
Work 2 Energy for a particle
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KineticEnergy
we define the kinetic energy of a particle to be T= EMI I
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Conservativeforces

A force to is conservative i one can find a scalar function (called a petential
energy function) U = U(1) from which be is derivable :
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eg. The sinipe pendulum is the energy of this system conserved ornot? Why?
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the only fore doing work on the system is conservative, so the energy of
the system is conserved.

Whenever you want to use energy conservation , you
have to justify your usage

by confirming that all the forces doing work on the system are conservative:
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